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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{ 0.00 ~ 459 57.20| #h L4t | 0.00 ~ 459| 1.99 10.67 s 1.00f 500 ~ 543 57.20f #h 4t | 5.00 ~ 543 1.99 10.67
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
s 1.00{0.00 ~ 6.36 79.95| Fh L4t | 0.00 ~ 6.36] 2.68 14.35 s 1.00f 5.00 ~ 10.41 79.95 FhLlst | 5.00 ~ 1041 2.68 14.35
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEFBZ B -~ = = =
s 1.00{0.00 ~ 6.35 79.91| ZhLlst | 000 ~ 6.35 2.77 14.81 s 1.00f 500 ~ 11.55 79.91 Zhls+ | 5.00 ~ 1155 2.77 14.81
4 100kN/m##8 %% 1.00{0.00 ~ 1.25 118.87|3m%x#B2 5% ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.59 ~ 14.47 118.87|3m%x#B2 5 =l ~ - - =
s 1.00{1.25 ~ 9.03 100.00f Zhl9t |0.00 ~ 9.03] 2.24 12.00 s 1.00f 5.00 ~ 10.59 100.00f Zhlst | 5.00 ~ 1447 2.24 12.00
5 100kN/m##8 %% 1.00| 0.00 ~ 0.21 103.11|3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.73 ~ 11.29 103.11|3m%x#B 25 =l ~ - - =
s 1.00{0.21 ~ 8.00 100.00f Z=hki4t+ | 0.00 ~ 8.00| 2.29 12.26 s 1.00f 5.00 ~ 10.73 100.00f Zhlst | 5.00 ~ 11.29] 2.29 12.26
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.26 78.69| =h Ll |0.00 ~ 6.26| 2.04 10.89 s 1.00f 500 ~ 8.60 78.69| =hLlst | 5.00 ~ 860 2.04 10.89
8 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 3.79 47.72| =nList = K - - - st 1.00f 500 ~ 5.00 47.72| =nList -~ - - =
9 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{ 0.00 ~ 6.55 82.50| #h L4t |0.00 ~ 6.55| 2.06 11.01 st 1.00f 500 ~ 942 82.50| =Lt | 500 ~ 9.42| 206 11.01
10 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.02 75.37| #=h L4t 1000 ~ 6.02| 2.19 11.70 s 1.00f 500 ~ 9.73 75.37| #nhLlst | 5.00 ~ 9.73| 2.19 11.70
» 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
s 1.00{0.00 ~ 7.27 92,58 Fn L4t |0.00 ~ 7.27| 2.55 13.64 st 1.00f 500 ~ 11.32 92,58 #hLlst | 5.00 ~ 11.32| 2.55 13.64
12 100kN/m##8% % 1.00{0.00 ~ 0.74 110.98| 3m%*x#B2 5% ol ~ = = —| 100kN/mM%#BZ % 1.00{ 12.16 ~ 14.57 110.98| 3m%x#B 25 =l ~ - - =
s 1.00{0.74 ~ 852 100.00f Z=hki4t | 0.00 ~ 8.52| 249 13.33 st 1.00f 500 ~ 12.16 100.00f Zhl4t | 5.00 ~ 1457 2.49 13.33
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~

DiE
JH
Amf



